Schedule: A

Project No.: PRA-FOOT 8E13

Project Name: FOOTHILLS PARKWAY

State: TN

Opened at: Sterling, VA

County: BLOUNT

By: P. Schaad/M. Harris

GREAT SMOKY MOUNTAINS NATIONAL

Date: 05/05/05

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Peggy L. Schaad

Date: __5/05/05

Title: Contracting Specialist

Date: __5/26/05_

Contract Awarded to: Charles Blablock and Sons

Contractor	Bid Amount	Responsive
Charles Blalock & Sons, Inc.	4,673,957.40	
P.O. Box 4750		
Sevierville, TN 87864-4750		
Mountain States Contractors, LLC	5,990,181.40	
3874 S. Alston Ave, Suite 103		
Durham, NC 27713		
Engineer's Estimate	4,400,000.00	

Date: 05/05/05

Schedule: A

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101	LPSM Charles Blalock & Sons,		ALL	675,000.00	675,000.00
	Mountain States Contract ENGINEER'S ESTIMAT	<i>'</i>		598,472.00 364,086.00	598,472.00 364,086.00
15201	LPSM	Construction survey and	staking		
	Charles Blalock & Sons,	Inc.	ALL	75,000.00	75,000.00
	Mountain States Contract			40,000.00	40,000.00
	ENGINEER'S ESTIMAT	E		175,000.00	175,000.00
15401	LPSM	Contractor testing			
	Charles Blalock & Sons,	Inc.	ALL	250,000.00	250,000.00
	Mountain States Contract	ors, LLC		130,000.00	130,000.00
	ENGINEER'S ESTIMAT	Ë		175,000.00	175,000.00
15703	m	Silt fence			
	Charles Blalock & Sons,	Inc.	185	20.00	3,700.00
	Mountain States Contract	ors, LLC		50.00	9,250.00
	ENGINEER'S ESTIMAT	E		50.00	9,250.00
15705	m	Slope drains			
	Charles Blalock & Sons,	•	60	100.00	6,000.00
	Mountain States Contract	ors, LLC		80.00	4,800.00
	ENGINEER'S ESTIMAT	E		100.00	6,000.00
20101	ha	Clearing and grubbing			
	Charles Blalock & Sons,		0.25	400,000.00	100,000.00
	Mountain States Contract	ors, LLC		80,000.00	20,000.00
	ENGINEER'S ESTIMAT	E		75,000.00	18,750.00
20201	ha	Selective clearing			
	Charles Blalock & Sons,	Inc.	0.11	100,000.00	11,000.00
	Mountain States Contract	ors, LLC		120,000.00	13,200.00
	ENGINEER'S ESTIMAT	E		20,000.00	2,200.00
20213	LPSM	Roadside cleanup			
	Charles Blalock & Sons,	•	ALL	30,000.00	30,000.00
	Mountain States Contract			95,000.00	95,000.00
	ENGINEER'S ESTIMAT	E		10,000.00	10,000.00

Date: 05/05/05

Schedule: A

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20302V	m	Removal of fence (exist	ing silt fence)		
	Charles Blalock & Sons, Inc. 650			75.00	48,750.00
	Mountain States Contractors, LLC			30.00	19,500.00
	ENGINEER'S ESTIMATE			5.00	3,250.00
20302V	C m	Removal of chain link for	ence		
	Charles Blalock & Sons, Inc	c.	618	10.00	6,180.00
	Mountain States Contractor	s, LLC		9.00	5,562.00
	ENGINEER'S ESTIMATE			30.00	18,540.00
20401	m3	Roadway excavation			
	Charles Blalock & Sons, Inc	c.	3,500	60.00	210,000.00
	Mountain States Contractor	s, LLC		125.00	437,500.00
	ENGINEER'S ESTIMATE			30.00	105,000.00
20701B	B m2	Earthwork geotextile, ty	pe II-B		
	Charles Blalock & Sons, Inc	c.	140	10.00	1,400.00
	Mountain States Contractor	s, LLC		12.00	1,680.00
	ENGINEER'S ESTIMATE			10.00	1,400.00
20701D	D m2	Earthwork geotextile, ty	pe IV-D		
	Charles Blalock & Sons, Inc	c.	165	10.00	1,650.00
	Mountain States Contractor	s, LLC		12.00	1,980.00
	ENGINEER'S ESTIMATE			8.00	1,320.00
20701G	m2	Earthwork geotextile, ty	pe VII		
	Charles Blalock & Sons, Inc	c.	130	20.00	2,600.00
	Mountain States Contractor	s, LLC		24.00	3,120.00
	ENGINEER'S ESTIMATE			10.00	1,300.00
20801	m3	Structure excavation (Br	ridge Piers)		
	Charles Blalock & Sons, Inc	c.	151	600.00	90,600.00
	Mountain States Contractor	s, LLC		700.00	105,700.00
	ENGINEER'S ESTIMATE			300.00	45,300.00
25101C	m3	Placed riprap, class 3			
	Charles Blalock & Sons, Inc	c.	160	68.00	10,880.00
	Mountain States Contractor	s, LLC		175.00	28,000.00
	ENGINEER'S ESTIMATE			175.00	28,000.00

Date: 05/05/05

Schedule: A

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
30103Z	m3	Aggregate base, grading	C or D		
	Charles Blalock & Sons, In-		300	60.00	18,000.00
	Mountain States Contractor	s, LLC		120.00	36,000.00
	ENGINEER'S ESTIMATE			75.00	22,500.00
30502J	m2	Aggregate-topsoil course	e, 90 mm depth		
	Charles Blalock & Sons, In-	c.	605	8.00	4,840.00
	Mountain States Contractor	s, LLC		15.00	9,075.00
	ENGINEER'S ESTIMATE			10.00	6,050.00
40907A	.B m2	AT-38 asphalt surface tr	eatment		
	Charles Blalock & Sons, In-	c.	22	40.00	880.00
	Mountain States Contractor	s, LLC		75.00	1,650.00
	ENGINEER'S ESTIMATE			25.00	550.00
41801D	DB t	Superpave asphalt concr	ete pavement, 25mm nor	minal maximum size aş	ggregate, 0.3 -
	Charles Blalock & Sons, In-	c.	400	120.00	48,000.00
	Mountain States Contractor	s, LLC		95.00	38,000.00
	ENGINEER'S ESTIMATE			60.00	24,000.00
55201A	m3	Structural concrete, class	s A (AE), for abutments	i	
	Charles Blalock & Sons, In-	c.	629	800.00	503,200.00
	Mountain States Contractor	s, LLC		1,450.00	912,050.00
	ENGINEER'S ESTIMATE			1,050.00	660,450.00
55201A	m3	Structural concrete, class	s A (AE), for piers & cap	ps	
	Charles Blalock & Sons, In-	c.	183	950.00	173,850.00
	Mountain States Contractor	s, LLC		1,650.00	301,950.00
	ENGINEER'S ESTIMATE			1,050.00	192,150.00
55201A	m3	Structural concrete, class	s A (AE), for cantilever	retaining walls	
	Charles Blalock & Sons, In-	c.	102	900.00	91,800.00
	Mountain States Contractor	s, LLC		1,850.00	188,700.00
	ENGINEER'S ESTIMATE			1,050.00	107,100.00
		Structural concrete, class	s HPC, for bridge deck		
55202N	E m3				
55202N	Charles Blalock & Sons, Inc.		198	1,200.00	237,600.00
55202N		c.	198	1,200.00 1,100.00	237,600.00 217,800.00

Date: 05/05/05

Schedule: A

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
55202N	NE m3	Structural concrete, clas	s HPC, for bridge deck (A	Abutment deck)	
	Charles Blalock & Sons,	Inc.	216	990.00	213,840.00
	Mountain States Contract	ors, LLC		1,000.00	216,000.00
	ENGINEER'S ESTIMAT	E		1,200.00	259,200.00
55207N	NN m2	Structural concrete, clas	s HPC, for approach slab	s, type 1	
	Charles Blalock & Sons,	Inc.	83	300.00	24,900.00
	Mountain States Contract	ors, LLC		600.00	49,800.00
	ENGINEER'S ESTIMAT	E		250.00	20,750.00
55207N	NV m2	Structural concrete, clas	s HPC, for bridge deck o	verlay	
	Charles Blalock & Sons,	Inc.	3,415	73.00	249,295.00
	Mountain States Contract	ors, LLC		225.00	768,375.00
	ENGINEER'S ESTIMAT	E		125.00	426,875.00
55302A	AC m	Precast prestressed conc HPC concrete)	erete structural members,	I-beams, AASHTO ty	pe 3 (Class
	Charles Blalock & Sons,	Inc.	254	850.00	215,900.00
	Mountain States Contract	ors, LLC		1,000.00	254,000.00
	ENGINEER'S ESTIMAT	E		500.00	127,000.00
55401	kg	Reinforcing steel			
	Charles Blalock & Sons,	Inc.	94,192	1.70	160,126.40
	Mountain States Contract	ors, LLC		1.65	155,416.80
	ENGINEER'S ESTIMAT	TE .		2.00	188,384.00
55402	kg	Epoxy coated reinforcin	g steel		
	Charles Blalock & Sons,	Inc.	50,308	2.00	100,616.00
	Mountain States Contract	ors, LLC		1.95	98,100.60
	ENGINEER'S ESTIMAT	E		2.50	125,770.00
55502	m	Bridge expansion joints			
	Charles Blalock & Sons,	Inc.	23	1,500.00	34,500.00
	Mountain States Contract	ors, LLC		800.00	18,400.00
	ENGINEER'S ESTIMAT	E		300.00	6,900.00
55601C	CB m	Aluminum bridge railing	g, two rail		
	Charles Blalock & Sons,	Inc.	746	320.00	238,720.00
	Mountain States Contract	ors, LLC		370.00	276,020.00
	ENGINEER'S ESTIMAT	E		450.00	335,700.00

Date: 05/05/05

Schedule: A

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
60406	Each	Inlet adjustment			
	Charles Blalock & Sons, Inc	•	1	2,000.00	2,000.00
	Mountain States Contractor	s, LLC		5,000.00	5,000.00
	ENGINEER'S ESTIMATE			1,100.00	1,100.00
60501	m	Underdrain system (6-in	ch diameter)		
	Charles Blalock & Sons, Inc	2.	92	100.00	9,200.00
	Mountain States Contractor	s, LLC		100.00	9,200.00
	ENGINEER'S ESTIMATE			50.00	4,600.00
60508	m3	Granular backfill			
	Charles Blalock & Sons, Inc	2.	45	75.00	3,375.00
	Mountain States Contractor	s, LLC		200.00	9,000.00
	ENGINEER'S ESTIMATE			75.00	3,375.00
60801E	m2	Paved waterway, type 5			
	Charles Blalock & Sons, Inc	2.	55	100.00	5,500.00
	Mountain States Contractor	s, LLC		350.00	19,250.00
	ENGINEER'S ESTIMATE			100.00	5,500.00
62001B	E m3	Class B masonry, rock fa	ace finish		
	Charles Blalock & Sons, Inc	2.	80	4,500.00	360,000.00
	Mountain States Contractor	s, LLC		4,500.00	360,000.00
	ENGINEER'S ESTIMATE			5,000.00	400,000.00
62002A	m m	Stone masonry guardwal	ll, type 1		
	Charles Blalock & Sons, Inc	2.	25	3,750.00	93,750.00
	Mountain States Contractor	s, LLC		5,000.00	125,000.00
	ENGINEER'S ESTIMATE			2,500.00	62,500.00
62002B	m	Stone masonry guardwal	ll, type 2		
	Charles Blalock & Sons, Inc		8	3,000.00	24,000.00
	Mountain States Contractor	s, LLC		4,000.00	32,000.00
	ENGINEER'S ESTIMATE			2,500.00	20,000.00
62402K	ha	Furnishing and placing t	opsoil, 100 mm depth		
	Charles Blalock & Sons, Inc	2.	0.30	50,000.00	15,000.00
	Mountain States Contractor	s, LLC		75,000.00	22,500.00
	ENGINEER'S ESTIMATE			10,500.00	3,150.00

Date: 05/05/05

Schedule: A

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
62509	ha	Turf establishment			
	Charles Blalock & Sons	s, Inc.	0.30	6,000.00	1,800.00
	Mountain States Contra	actors, LLC		18,000.00	5,400.00
	ENGINEER'S ESTIMA	ATE		10,500.00	3,150.00
62901B	m2	Erosion control mat type	2		
	Charles Blalock & Sons	s, Inc.	605	6.00	3,630.00
	Mountain States Contra	actors, LLC		6.00	3,630.00
	ENGINEER'S ESTIMA	ATE		10.00	6,050.00
63505C	Each	Barricade, type 3			
	Charles Blalock & Sons	s, Inc.	2	1,000.00	2,000.00
	Mountain States Contra	actors, LLC		800.00	1,600.00
	ENGINEER'S ESTIMA	ATE		500.00	1,000.00
63507	m2	Construction sign			
	Charles Blalock & Sons	s, Inc.	15	225.00	3,375.00
	Mountain States Contra	actors, LLC		500.00	7,500.00
	ENGINEER'S ESTIMA	ATE		250.00	3,750.00
63523	t	Maintenance of traffic, p	avement patch		
	Charles Blalock & Sons	s, Inc.	2,000	125.00	250,000.00
	Mountain States Contra	actors, LLC		105.00	210,000.00
	ENGINEER'S ESTIMA	ATE		60.00	120,000.00
63701	Each	Field office			
	Charles Blalock & Sons	s, Inc.	1	60,000.00	60,000.00
	Mountain States Contra	ectors, LLC		95,000.00	95,000.00
	ENGINEER'S ESTIMA	ATE		60,000.00	60,000.00
64801	t	Agricultural Limestone			
	Charles Blalock & Sons	-	3.0	500.00	1,500.00
	Mountain States Contra	actors, LLC		10,000.00	30,000.00
	ENGINEER'S ESTIMA	ATE		150.00	450.00

Schedule: A

Project No.: PRA-FOOT 8E13
Project Name: FOOTHILLS PARKWAY

BID ITEM CHECK PASS

Date: 05/05/05

Bidder Item No. Extension

No extension errors in this Schedule.

Schedule: A

Project No.: PRA-FOOT 8E13
Project Name: FOOTHILLS PARKWAY

BID TOTAL CHECK PASS

Date: 05/05/05

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Charles Blalock & Sons, Inc.	4,673,957.40	4,673,957.40	
Mountain States Contractors, LLC	5,990,181.00	5,990,181.40	***

The apparent low bidder is 6 % above the engineer's estimate.